o
—1

2017. 06. 02



(S

=
L

2.

3. 2B

=
!

joll
ol

L0



1. M2

~

= OEM (Original Equipment Manufacture)

HE 71
A =TS

Kf
- AH[7t A

T

o)
ol

ofru
<

=

<
iy
S
=

)

J

=l

S
Hig

ol
ol
Hio

1

- L}0|7|, OfE|CtA 5

K

ol
_”__u_ ._o._m
KF
o Tl

<d

0
oIl

-]

<
il

<d

AFR = H|

]

=
v

<
fl

<4



=
R

I

Al
e
s OF
IT
= AH
(&)
_X|
_El.

pa

|O

>~ |0 Ho
HU 1o

Ral

- Mg T o

o O

U

X O| E X|
o OoOo—l /| O
= A ol =

SEH ALk S FIX] 7|20 EXY

b = [ IT - |

T2 W02t & El= HF0f CisiME 12 ER

CIs =

B0 &g¢t H[E0| &7t

=LE O|HH[E
X, HE HE

18 22 32 42 e
01~10% |11~20% | 21~302 | 01~10% | 11202 | 21~302 | 01~10% | 11~20% | 21~30% | 01~102 | 11~20% | 21~302 | 01~10% | 11202 | 21~302
01/01 - 27 o ESAPLH) RS (52
03/ng
016 52 34 G e G L
T L

0201 72 3% PR s Y

02/16 7= 974 R (252) LS (52 Z3(10%)

AR AR (252) TS (59)

0376 % 4% A s sy

S AQ 7|7t




il

- ST A Ao A2t HXHM 22X 7t SES &

: 2219 4

E M
= O

S3/2r2le|

o0

.@

Joll



Ml ‘82l

=
L

2

i[d
KF

N

Jod
0
oIr

Ok
Kk
=

B

=3
ki

OFCF Off & &I X

i3]
Kk

=X

— o 0z

it
=

A ahE ofR| B E A

-t

KO
Mo

=
a

H| 7} Cf

S
(=)0l L}

o
L

ol A H|

— 9Ix|of
!

=
a

= ote HlE

VRS

=3
ki

KO0
ol

K
ol
of
|

ol
(g



Ml ‘82l

=
L

2

)

(A5

© 7S A

O
KF

N

O AL 74

ol

OH

Toll

|

273

OH

ol Z4H|

KK

%

o-
M

=
=]

- S8 w2k A AH|[ 7t T

ol

—

<




Ml ‘82l

=
L

2

)

(A%

— Inbound Cost2} Outbound Cost7} &= X|

© 7P Af

T
40

o
L

Inbound Cost

Outbound Cost

THA] St 2 2= H[E

[=13
o

M=ol =3t =&

ild



Ml ‘82l

=
L

2

)

as
==

(7
x| O] H

=1,
o

© 7P Af

2
&)

AH A
O -

i

= HlE

O AR

ot=

<4

IS

OS2 0f

Ho
[

of AH8 &= =+

N
2~

£ 2 (upper) 2| |

=] o
Aol A

o

o

N

0
K-
ofo

| 22{50] H

100
o
0

Ol

P

joll
<

=X

<

0f
oH




2. = H| ‘89

* 7S A2 (AIR)

- &85
- M&E= d4otot=0 Lot =5otX| LiEfL = =
- &9 4 crelorht M Z0 HE =7t LS
— ot F7|(15Q)2] datehot 7|0l ditsHa = ALt
| A9
™=
- 58 s OiH 2= 52/ H&
¢ EQ B4 = EQUE AL x £Y AT
© B4 B =EE MM AT x SIS MM
- gL 2L, 7|7, dH[ JEl 52| RoCE HE
i | E4E
= 1 2 3 4 S 6 7 8 9 10 11 12 13 14 15 (=) (%)
M5t
(7|Z) | 2000|2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 [ 2000 | 30000 100%
1Z7% |1200|1250| 1300|1400 | 1500|1600 | 1650|1700 | 1700 | 1800 | 2000 | 2000 | 2000 | 2000 | 2000 | 25100 84%
2=%F | 1200 | 1350 | 1400 | 1550 | 1750 | 1900 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 2000 | 27150 91%
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Al A0}
(A=)
84
X A A aejx}# it L] o
(%/159) (2/9) (%/9) me e

A 120,000 2,000 1.25
B 90,000 1,260 1.05
C 54,000 H98 0.83
D 127 500 1,598 0.94
E 33,000 ha( 1.25
B 34.500 012 1.33
G 43,500 h30 1.00
H 37,500 400 0.80
I 18,000 223 0.93
J 13,500 153 0.85
K 10,500 126 0.90
L 7.500 115 1.15
M 1,500 20 1.00
N 3,000 38 0.95
0 4 500 67 1.12
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&5 - H5E - ERps N—_—
T (E) (E) (E)

10lin 2lin | 3lin | 4lin Zlin | 3lin | 4lin Blin | 7lin | 8lin
Dd | lline | 2line | 3line | 4line | Sline | Bline | 7line | 8line | 9line ool | 1line 28 | Iline bline

e e e e e e e e e e
A 1| 089 089 089| 089 089 089 089 1 1 A 0.91 1 1] 091 A 0.87 1| 0.87| 0.87| 087 0.87 1| 0.87
B 089 | 089 089 089 1 1| o089 | 089| 089 | 089 B 1| 091 0.91 1 B 0.87| 0.87| 0.87| 0.87 1| 087 0,87 0.87
C 089 | 089 089 089 1| 089 089 1| 089 | 089 c 0.91 1 11 091 c 1| 0.87 1| 087 087| 0.87| 0.87 1
D 089 | 089 1 1| 089| 089 08| 08| 089 089 D 1l 091l 091 1 D 0.87| 087 0.87| 087 087 1| 087 0.87
E 089| 089 089| 089 | 089 | 083| 089| 089 1 1 E 0.91 1 11 091 E 0.87| 0.87| 0.87 1| 0s87| 087| 0.87| 0.87
F 1| 089 089 089 089 089 | 089 | 089 | 089 1 F 0.91 1l o91| 091 F 0.87 | 0.87| 0.87| 0.87 1| 0.87| 0.87 1
G 0.89 ) 089 089] 089 1] 089] 089 11 089 | 089 G 1| 091 091 091 G | 0.87| 0.87| 087 0.87| 0.87 1| 0.87| 0.87
H 0.89 1| 089 089 | 089 | 083| 089| 089 1| 089 H 0.91 1| o091 1 H 0.87| 0.87 1| 087 087| 087| 0.87| 0.87
I 0.89) 089 089f 089) 089 - 1] 089] 089) 089 I 0.91| 0.91 1| 091 I 1| 0.87| 087 0.87| 0.87| 0.87 1| 0.87
J 089 | 089 089 08| 089 | 089 | 08| 089 089 ) 0.89 J 0.91] 0.91| 091 0.91 J 0.87| 0.87| 0.87 1| o087 0.87 1] 0.87
K 0.89 1 08| 089 08| 08| 08| 08| 089 | 089 K 0.91 1| 091 0.91 K 0.87 1| 0.87| 0.87| 0.87| 0.87| 0.87| 0.87
L 089 | 089| 089 089| 089 089 1] 089| 089| 089 L 091 091 0.91 1 L 0.87| 0.87| 0.87| 0.87 1 1| 0.87| 0.87
M 089 | 089 089 1 1| 089| 089| 089| 089 | 089 M 1| 091 1| 0.91 M 0.87 | 0.87 1| 087 087 0.87| 0.87| 0.87
N 089 | 089 089| 08| 089 089| 089 1| 089 089 N 0.91| 0.91| 0.91] 0.91 N 0.87| 0.87| 0.87| 0.87| 0.87| 0.87| 0.87| 0.87
o) 1| 089 089| 089 089 1| 089 | 089 | 089 | 089 o) 0.91| 0.91| 0.91] 0.91 0 1| 0.87| 087 0.87| 0.87]| 0.87| 0.87 1




" A5 X =EOHHE

o] A H] &

JE= e () 1872 28 7H($B) 3-8 H(EB)
Al & All-line All-line All-line
N - 19,600 19,600
B 19,600 - 19,600
C 19,600 19,600 -
D - 19,600 19,600
E 19,600 - 19,600
F 19,600 - 19,600
G 19,600 19,600 -
H 19,600 19,600 -
I - 19,600 19,600
J 19,600 - 19,600
K 19,600 - 19,600
L. - 19,600 19,600
)i 19,600 19,600 -
N 19,600 - 19,600
O 19,600 - 19,600
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— 1-=-30CH 23 0h) 3= 0H)

= AN

ol All-line All-line All-line

r-y 3.7% D.14 3.20
B 3.00 4.11 =Z.bhBe
O =. Do 3.43 =213
D =Z.81 3.868 =.40
E 3.75 D.14 3.20
o3 3.75 5.14 3.=20
e Z.00 4.113 Z.be
=] =. Do 3.43 Z2.13
I =281 3.86 Z.40
T 3.75 5.14 3.=20
® 3.75 5.14 3.=20
1. 3.00 4.11 =Z.bhBe
A = .50 3.43 Z2.13
T .81 3.868 Z.40
O 3.75 5.14 3.=20
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1534
n= 1line Zline 3line 4line | 5line | 6line | 7line 8line | 9line 10line oA
A 1750 | 953 1350 1025 | 1750 1750 8578
B 2050 | 2050 | 1549 5649
C
D 1256 1256
E
F
o
H
I
J
K
L 523 523
M
N
O




1line

Zline

3line

4line

2
=

1900

820

2720

783

1780

2563

1151

1151

837

837

=

= | =

105

105

]

314

314

384
Q| 1lline | 2line | 3line | 4line | Sline | 6line | 7line | 8line | %A
A
B
c 1789 2500 | 4289
D
E
F
G 1883 1883
H 1465 1465
1 | 2180 | 457 1980 | 1980 2190 8787
J
K
L
M 367 367
N
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